4 ’Q:,Miﬁ |
,c/u(}«f% Qw{,w} f Arron) g%% here
dﬁ,{g{j? Can %j”y Ao Cé,bcié//ﬁﬁg,}y

ﬂfy?/ b ;” Cf”g& ,»/— , , ,
, %? fa{;ggj/ Sowrez, Jr) fmm f”i‘aé’/‘ f?\/ /{77%&» 2L f’”’x;sz ey
Y % mhel  fom  resinde fTAE ,,
| )}/w"uf for Sovce ol &wé%/ fyﬁé;& [:E]
olchos s -

Cirench: —fip]

M‘j&%ﬁm S #?ia 1(1‘% ‘#Z Af:}ﬁ;/ '14%’4«: A f

%7 ;{/;Lifp&i;z'{éj@ _;i,s»g,kg;h\/
e R . {E}C:t/iﬂ»; f,é&. »«p %f{ 7/{_} {?/3 J é“i}; ﬂ;‘ .
. - ; , e T

% f“f’g&/é{ L;V'/"“JL Cf) ; ﬁ’ih*}’“ ,{/{4 f’;’l W 2R o 5/ m :1}13 ﬁfﬂd P ”'C{*C ;"fésbwé&\‘évy}w
zyﬁﬂ"{}fﬁ‘} i f{g;, Q/}ﬁ"’ 4 il %WV Sowce Aded ﬂ:’:&/ ?/”O [yr %Z A CAC T o) /

i bok ALLR Serie C&_\A
f‘:é: {,% *w< tadd / (’/411 “"g«}!/’;j Q.{‘t/ié @%/}4 z’“‘»‘[ féd /}Z/i {Q < 'f_,?)éﬂ

%

= |

Serices \*wm;% (://{..75;\%& W}f 7 }@ 7// s..f..rf‘ fifg, 404 JZ\ ) 4_’,77%76"1/ 7&«

9"14’*} LA rk&fw.}h ””é'

ins g’é@?” %&‘W%&“@#%
ig/w‘wj iwf‘i:fﬂ i . WV 5/5 17,“"“";, / é/é \;)} INE. L j.z B e (o g

p&é «‘\;1’ ﬁ\ g%ﬁwﬁ&w fﬂiﬁ;ﬁ;ﬁ) e

] S

/ ) ; :

ﬁ;n fu«;if { /3 / Lin. (s ,g e “sf? G Ondiseco Curid *‘/«/’: by e s{/ /U’z‘i
4

f{" L éﬁ/‘f‘sl’*



—

&

\

e

\
\

S—




o —
)
o {

& Ay

1 i
i ﬂ.ﬁx L

— 4
e,
; “
-




35?!?

—
s

¢
;
¢
]
H

%
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_Physics: Series Circuits

Base your answers to questions § through 8 on the
diagram below. The reading of voltmeter V,is 26
volts, and the reading of ammeterA, is 2 amperes.

" Base your answers to questions 1 through 4 on the
“diagram below.

J

Ny

. What is the total resistance of the circuit?

. If the potential difference across R, is V volts,

. If the potential difference of the source were

. Compared to the current in R, the current in R,

Rf = |0 a
ANA-

(1)660Q
(2) 100

(3) 20 0
(4) 30 0 e(

the potential difference across R, would equal
(1) Vvolts (3) (60 - V) volts
(2) 1/2 (60 - V) volts (4) (60 + V) volts %

decreased, the total heat developed in the circuit
would

(1) decrease
(2) increase

(3) remain the same

is
(1) less
(2) greater

(3) the same

e

5. What is the reading of voltmeter V,?
(1) 52V (3) 13V
(2) 26V (4) 8V

LZ/

6. What is the total resistance of the circuit?
M %o (3) 100
(2) 4/3 (4) 13 0

f

7. The reading of ammeter A, is
(1) 6A (3) 3A
(2) 2A (4) 52 A

Z

8. If additional resistances are added in series and
the applied voltage is kept constant, the reading
of voltmeter V, will

(1) decrease
(2) increase

(3) remain the same
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9. Base your’??ﬁgwers to parts a though ¢ on the information and data table below.

A resistor was held at constant temperature in an operating electric circuit. A student

measured the current through the resistor and the potential difference across it. The
measurements are shown in the data table below.

¢~ Potential Difference vs. Current

Data Table 140
Potential n
Current (A) Difference (V) : RA%
12.0
0.010 2.3 :
0.020 5.2 & .
10.0
0.030 7.4 < - ft
@ 4 AW
0.040 9.9 e
g 8.0 L7
0.050 12.7 k] +
oY i
. 3 6o
Stoe AY . 1V T § ] ;
P =L - Z L2 RS 3
k b L
MM Qe - of s0
3
' 2.0 {
/ U 15
P }
f:; Zﬁ 0.0 +-2 'f 1
¢ Tt et b

O 0V oG U GuT
N

a Using the information in the data table, construct a graph on the grid provided following the directions below.
(1) Mark an appropriate scale on the axis labeled "Current (A)"

(2)Plot the data points for potential difference versus current.
(3)Draw the best-fit line.

b Using your graph, find the slope of the best-fit line. [Show all calculations, including the equation and
substitution with units.]

¢ What physical quantity does the slope of the graph represent?

?5%>{3l\{)€»
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